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1. Who founded the ‘Textile Labour Association’ in Ahmedabad ?

(a) Jamnalal Bajaj (b) M.N. Joshi
(c) Mahatma Gandhi (d) Sardar Vallabhbhai Patel
2. Who led the Revolt of 1857 at Bareilly ?
(a) Maulvi Ahmadullah (b) Liyagat Ali Khan
(c) Khan Bahadur (d) Hazrat Mahal
3. Who is known as ‘The Father of Indian Renaissance” ?
(a) Dayanand (b) Raja Rammohan Roy
(c) Dadabhai Naoroji (d) Rabindranath Tagore
4.  In which year the ‘Quit India’ resolution was passed by the ‘Congress Working Committee’ ?
(a) 1940 (b) 1942 (c) 1943 (d) 1944
5.  To which movement the ‘Chauri-Chaura’ incident was related ?
(a) Non-Cooperation Movement (b) Civil Disobedience Movement
(c) Wahabi Movement (d) Quit India Movement
6.  Who is known as ‘Machiavelli’ of India ?
(a) Kautilya (b) Kamandak (¢) Narendra (d) Chandragupta
7.  How many times did Trail carry out land reforms as Commissioner of Kumaon ?
(a) 05 (b) 07 (c) 09 (d) 12
8.  Who was the last King of Tehri Princely State ?
(a) Sudarshan Shah(b) Narendra Shah  (c¢) Kirti Shah (d) Manvendra Shah
9.  Who was the main leader of ‘Dola-Palki’ Movement in Garhwal ?
(a) Shridev Suman (b) Ramesh Chandra Bahukhandi
(c) Jayanand Bharati (d) Bhagwati Charan Nirmohi

10. Who was the most powerful king of Kuninda dynasty ?
(a) Amoghbhuti  (b) Sheel Varman (¢) Vishnu Varman (d) Grih Verma

11. When was the Gorkha rule established in Kumaon ?

(a) 1790 A.D. (b) 1792 A.D. (c) 1815 A.D. (d) 1850 A.D.
12. Gabar Singh and Darban Singh of Uttarakhand were decorated for valour in which war ?
(a) First World War (b) Second World War
(¢) Crimean War (d) None of these
13. ‘Chaufula dance’ is associated with which of the following ?
(a) Shiv (b) Parvati (c) Durga (d) Hanuman
14. The ‘Dhol Sagar’ represents to which of the following ?
(a) Music tradition (b) Marriage tradition
(c) Tantric tradition (d) Literary tradition
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1. 3TEHCIEIC § “CHHesd ek UHITHUSH’ <hl ToHT fopdq <Al 7

(a) STHATAT SITST (b) TH.TA. MM
(c) weTeHT TMieft (d) TER TeeTHTS T
2. S H 1857 % fagig & Aqc fore foram ¢
(a) HITET TEHGE (b) Toramera 31cht @t
(c) ©H S&Tg (d) BSHd wEgA
3. YA GASIRUT % S’ o 19 8 e ST ST @ 7
(a) &I (b) T THARA I (c) QEWEANSH  (d) TEIZAY SR
4. Trm Iy Hum afhT HA g W Brel Ted1a’ qTia foham i o ?
(a) 1940 (b) 1942 (c) 1943 (d) 1944
5. I-IN v fohd 3Tgler § TEEfRra o ?
(a) STHEAN TGl (b) T 37a=T 3TTqIe
(c) TETe Ao (d) YRd SIS ATl
6. YR % ‘Afhamac’ % &I H fFE TAT @R ?
(a) I (b) HHECH (c) g (d) T
7. FHTS o HHTR oh ®I H ¢ 4 foha] IR Y-Fur fharm 7
(a) 05 (b) 07 (c) 09 d 12
8. fost fama s sifkmasi i o 7
(a) Yo W8 (b) =z M8 (c) whifd =g (d) | IR

9. TEATA H SIEA-UTeTeh!” TG oh & a1 i & ?
(a) #icagaa (b) IS 9g@UEl  (c) MG WAl (d) et =T e

10. BT TSTET 1 Tatferss vrfoasmreft TS A a1 2

() FEgd  (b) el (c) ooy s (d) & =t
11. TS | TGN e e ST §3T AT 7
(a) 1790%. (b) 1792%. (c) 1815%. (d) 1850%.

12. ITRAYE o ToR 48 3R @M 148 i Tohd Jg H SRaT o ol gL&ha foha T 72
(a) Ve Rvagg (b)) Rfefweag (o) fRftrmag (d) 3T 9 HE TE

13.  gpen Jo Fafafed 7 @ foraa aafm g 7
(a) T (b) e (c) g (d) T

14. SA-ar F=fafaa 5 9 forgen afaf e s g ?
(b) ferarg v (c) dTfIeh TTORT (d) HTfecT T
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Which one of the following is a war instrument ?
(a) Mochhang (b) Nagada (c) Sarangi (d) Algoza

Which one of the following is not a part of Uttarakhand ‘Char-Dham’ ?
(a) Badrinath (b) Kedarnath (¢) Rudranath (d) Gangotri

In which of the following articles, the provision of ‘Uniform Civil Code’ has been made for
the citizens of India ?
(a) Article-102 (b) Article-100 (c) Article-44 (d) Article-46

Which of the following languages is not included in the eighth schedule of Indian Constitution ?
(a) Tamil (b) Sanskrit (c) English (d) Telugu

Which ‘Constitutional Amendment Act’ granted a constitutional status to ‘Gram Sabha’ ?
(a) 73" Constitutional Amendment Act  (b) 74" Constitutional Amendment Act
(c) 77™ Constitutional Amendment Act  (d) 93" Constitutional Amendment Act

Who of the following can make laws on the residuary subjects not mentioned in the
Union/State/Concurrent lists ?

(a) Only Lok Sabha (b) Only Rajya Sabha

(c) Only Parliament (d) None of these

What is the meaning of ‘Republic’ ?
(a) Where head of the state is hereditary. (b) Where head of the state is elected.
(c) Where head of the state is nominated. (d) None of these

What is the name of the committee that recommended the plan of three-tier democratic
decentralization ?

(a) Mahadevan Committee (b) Ashok Mehta Committee

(c¢) Kothari Committee (d) Balwant Rai Mehta Committee
Which was the first state created on the basis of language in India ?

(a) Andhra Pradesh(b) Punjab (¢) Tamil Nadu (d) Karnataka
Which one of the following pairs is not matched correctly ?

(a) Uralis — Nilgiri Hills (b) Kadors — Kochi

(c) Badgis — Satpuda Hills (d) Pullayans — Palni Hills

Which of the following is the largest salt water lake in India ?

(a) Chilka (b) Dal (c) Wular (d) Loktak
The Thar desert is located in which state of India ?

(a) Gujarat (b) Rajasthan (c) Madhya Pradesh (d) Haryana
Which is the largest man-made lake in India ?

(a) Hirakud Reservoir (b) Dal Lake

(c) Chilka Lake (d) Govind Ballabh Pant Sagar (Lake)

In which year the ‘National Seed Corporation’ N.S.C. was established ?
(a) 1968 A.D. (b) 1961 A.D. (c) 1963 A.D. (d) 1965 A.D.
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frferfiea @ @ 1t gg-ama @

(a) TS (b) ST (c) (d) ST
freaferfiaa o @ i v STt@e & =y w1 e g e ?
(a) SEAT™ (b) HERAT (c) TE™ (d) TTA

FreferRad srg=eel § @ fopet YRA o AARTHERT o foTT |9 RTies |fgan &1 Sraa feba =
g7

(a) TE-102  (b) FIBG-100 (c) IToDe-44 (d) ITT=B%-46
fraferfiga @ & &5 =t v Rt wfaem 6t smeet g | miva T8 2 7

(a) dfiret (b) EEHd (c) 3 (d) L,
Tor Haufes HMYR TR A UTH AT ] Ueh BT gl Je foma ?

(a) 7391 GAUTh BN Tae (b) 74aT TR HIMEH TR

(c) 77af BaEies e TR (d) 93aT T HIMEH TR

3 rafyre fawet w, feer i /s /amadt gt | Soora 7 71, f= § @ i fafer fmfo
FLERAT R ?

(a) A AIBEAT  (b) hadd THETT  (c) hdol THS (d) 378 | IS T
T’ T AT T BT R ?

(a) STET TS <1 Y@ ST BT B | (b) ST&T T 1 yq@ Faifed g g |

(c) W&l TS o1 TH@ THifhd Bl & | (d) 3T | IS TR

AT~k ferehgIohToT shT FEqtie e ST ST s areft Ffifd ST 2 ?

(a) WETead Afafd (b) 3TMeh Wgar Gt

(c) I3 afufa (d) AU Tgdn |t

YIRA H WTSRA STTUR W Fd Tl TF A 917 ?

(a) FHIE  (b) T (c) diEeHTg (d) e
frfortad # & %9 91 v 39 wEt gafora 121 8 ?

(a) SUferd — Al TTfeat (b) HTCE — H=

(c) SERTE — HaqeT TaTiedt (d) qoeTrad — e vaTfeat
freafafga d @ S d yra § ged s @R aA e B 2

(a) Teremt (b) A (c) IR (d) Teheh
TRA & fopl T T IR 7ot fa & 7

(a) TSI (b) TSEITH (c) HEH TG (d) giemm
i | qrafid ged s s s e g ?

(a) ENIHe Tferd it (b) s A

(c) oot i (d) e Sty U=t AR (i)
T o T (v, wm . ) Y e fopm o gg off ¢

(a) 1968 %. (b) 1961%. (c) 1963%. (d) 1965%.
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Which river among the following is known as the ‘Dakshina Ganga’ ?

(a) The Krishna  (b) The Godavari (c) The Kaveri (d) The Mahanadi
In which state ‘Salem Steel Plant’ is constructed ?

(a) Karnataka (b) Kerala (c) Odisha (d) Tamil Nadu
Which one of the following rivers emanates from the ‘Namika Glacier’ ?

(a) Gori River (b) Western Ramganga River

(c) Eastern Ramganga River (d) Kali River

The Dudhatoli mountain range separates to which of the following rivers ?

(a) Ramganga and Saryu river (b) Pindar and Nayar river

(c) Gori Ganga and Bhilangana river (d) Pindar and Western Ramganga river

VL 204 is the improved variety of which one of the following crops ?

(a) Wheat (b) Rajma (c) Madua (d) Rice

In which district the ‘Nachiketa Tal’ is located ?

(a) Nainital (b) Dehradun (c) Uttarkashi (d) Chamoli
Which of the following is not a tribe of Uttarakhand ?

(a) Buxa (b) Tharu (c) Naga (d) Jaunsari
‘Har Ki Doon’ bugyal is located in which district of Uttarakhand state ?

(a) Dehradun (b) Haridwar (c) Tehri (d) Uttarkashi
‘Asan’ wetland is located in which district of Uttarakhand state ?

(a) Haridwar (b) Tehri (c) Dehradun (d) Uttarkashi
Which one of the following mountains stands in a vast amphitheatre like valley ?
(a) Meru (b) Nanda Devi (c) Mana Parvat (d) Sumeru
What was the area under total reserved forest in Uttarakhand in 2019-2020 ?

(a) 29527 square km. (b) 28829 square km.

(c) 26547 square km. (d) 36556 square km.

The Nodal Department of operation of ‘Pradhan Mantri Kisan Samman Nidhi Yojana” in
Uttarakhand is

(a) Agriculture Department (b) Finance Department
(c) Revenue Department (d) None of these

Which of the following districts of Uttarakhand has the maximum number of women
entrepreneurs in rural area as per Sixth Economic Census (Uttarakhand) 2012-13 ?

(a) Pithoragarh (b) Dehradun (c) Haridwar (d) Almora

According to Uttarakhand Economic Survey 2021-22 (Volume-II), the proportion of people
involved in self-employment in 2019-20 in Uttarakhand was

(a) 69.2 percent (b) 67.3 percent (c) 63.8 percent (d) 60.7 percent
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0 3 8 ot i ) e e o | S S | 7

(a) M (b) TireTer (c) il (d) HErel
Forr W wve” ford TS 0 SR TR ?
(a) HEH (b) A (c) aAfsam (d) g

fferfaa el 9 & % €t fies fear @ feherdt @ ?
(a) TG (b) IR T (c) TG (d) el A

cuTATeR TSl Freferfia & fo AR 61 erh e 2 7

(a) T 37 T 7 (b) TUe 3R TR T

(c) T T 3R foretar 7 (d) Taugt 3R fgaeft Toemm
et 204 Fr=ferfaa o @ ford T e 61 31 <61 TE TSfd B 7

(a) T (b) TS (c) w3 (d) et
fora forer o fachar arer fa @ 7

(a) Frar (b) <ETGH (c) STTHTEA (d) =it
freferfad o & o SHTfd Sauave 1 T8 8 ?

(a) T (b) & (c) RT (d) St
T T I IEvE T o fordt forer o feora 2 2

(a) oEUEd (b) BNER (c) fe=tt (d) T
“HTET ITATS ITEUE T o {8 Sl A fa 2 7

(a) BRER (b) fe=dt (c) Sl (d) Irhrft
frferfiga o & 1 a1 v vda forega Trvee (ThRERT) S et d @er ¢
(a) B= (b) =y et (c) mom Teid (d) go®
2019-2020 ¥ ITRGTE | HA ITRIEAT I T SAB T AT ?

(a) 29527 it fe 4. (b) 28829 =t fp 1t

(¢) 26547 a1 fep 11, (d) 36556 = fp. 1.

IAEE H TR Foha™ FH MY ASHT & FeTe g Aied fawm gl

(a) Y fawm (b) o fam (c) Toreg favrm (d) 379 T HIS T
frefarfaa & & sor@vs & fora fret o o e § Afgen Saftei i den veq_ 3 o

(ITARGUE) 2012-13 % AR T AU 7 7

(a) foemmmg (b) <& (c) BNER (d) 3reHTeT

IARGUE 31Tk TAeT0T 2021-22 (37h-11) & AR, IATEUE H T TSI Al b1 STATd
2019-20 § o7 |

(a) 69.29faed  (b) 67.3 Yfasma (c) 63.8 gfwra (d) 60.7 Sfaerd
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As per Export Preparedness Index (E.P.1.) 2021, the rank of Uttarakhand with respect to all
the states in India is

(a) 17 (b) 18h ' (c) 19" (d) 20*

The rank of Uttarakhand in overall ‘India Youth Development Index’, as per ‘India Youth
Development Index’ 2017 was

(a) 3rd (b) 4th (C) 5th (d) 9th

As per Uttarakhand Budget 2023-24, Uttarakhand has allocated, what percentage of its total
expenditure towards energy ?

(a) 1.1 percent (b) 1.8 percent (c) 2.3 percent (d) 2.5 percent

In which district of Uttarakhand, the Cinnamon Valley will be developed as per Uttarakhand
Budget 2023-24 ?

(a) Dehradun (b) Almora (c) Nainital (d) Uttarkashi
Which disciple of Mahatma Gandhi established ‘Pashulok Ashram’ at Rishikesh ?
(a) Sarla Bahan (b) Meera Bahan (¢) Kamla Devi (d) Kunti Verma
Which one of the following is not associated with environment movement ?

(a) Jaspal Rana (b) Chandi Prasad Bhatt

(c¢) Sundar Lal Bahuguna (d) Kalyan Singh Rawat

The ‘Raji’ tribe is found in which district of Uttarakhand ?
(a) Dehradun (b) Almora (c) Pithoragarh (d) Udham Singh Nagar

The ‘Seemant Engineering Institute’ (S.E.I.) is situated in Uttarakhand at .......
(a) Chamoli (b) Uttarkashi (c) Pithoragarh (d) None of these

The main target of ‘Saakshar Bharat Programme’ is to impart functional literacy to which
age group ?

(a) 5 years and beyond (b) 10 years and beyond

(c) 15-35 years (d) None of these

In which of the following National Park of Uttarakhand the maximum tourists arrival have
registered in 2020-21 ?

(a) Corbett National Park (b) Rajaji National Park

(c) Gangotri National Park (d) Valley of Flowers National Park

The ‘Himalaya Mega Food Park’ is situated in which of the following places of Uttarakhand ?
(a) Lohaghat, Champawat (b) Mahuakhera, Kashipur

(c) Punah Pokhari, Dehradun (d) Falya, Almora

The first Nursing College of Uttarakhand state ‘State College of Nursing’ is situated at ....
(a) Haldwani (b) Haridwar (c) Dehradun (d) Pithoragarh

How many gold medals India won in the 22" Commonwealth Games 2022 ?
(a) 67 (b) 57 (c) 22 (d) 26
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Tt dar gereeies (391,378, ) 2021 o STHR, WA o THE TSAT o Hey § IT@ve hi Juft
(Teh) ot

(a) 174t (b) 184t (c) 19di (d) 204t

T forehTE IR -2017" o FTTEAR, ITLRGVS H1 THY WRA JAT [ohIE FEhh H €M (1) A1
(a) =T (b) = (c) dr=ar (d) et

TGS T 2023-24 o AR, ITGUE = 3704 Hol S 1 foha1 Tfrwrd ol W rafed
fpg ?

(a) 1.1 gfeera (b) 1.8 fasma (¢) 2.3 gfosma (d) 2.5 gfasma

IAT@UE T 2023-24 o TR, ITTEUE o Tohd SHYIG | grera =1 =1t faehierd sht Sreft ?

(a) <BUGH (b) ST (¢) Sar (d) Tt
HETHT el ST TR TS o SR eheT § “U[cAIeh TS <hi TTAHT i ?
(a) T & (b) HU s (c) HAST cat (d) Pt amt

Frifera o O B Y TaRoT ST=gie | Trafd T8 | 7
(a) U@ TOT  (b) TAUSIIHEIG U (c) oA agion  (d) hedm T4 Tad

T ST ITEUE o fohd S9e | URf STl 8 7

(a) oEUGd OIS (c) ToeurTg (d) 3uwfiE TR
IarEve 1 Hiura ARG TEam (T8 S 318) +al {8 7

(a) =T (b) STrhret (c) fueiirre (d) T & g TEl
HTH YA SHRIHA’ 1 J&T 333 Fohd STIET w1 SRITcHe AT YEH HEAT 8 ?

(a) 5o 3R 3TH Afrh (b) 10 9 3R 30T 31

(c) 15-3598 (d) 30 T HTE Tl

Frferfiaa o & Sau@ve & fohd TP e | Taiiies Tcehi S STHA 2020-21 § Usfieha feha
T Y

(a) “hisic TP I&M (b) TS TE e

(c) TTE UFE 3T (d) Bt i =Tl UEE ITH

T BT RE UTeh” ITEUE o ffeiRad | @ fore A @ 2 ¢
(a) TARTETE, IFATEd(b) HEIRIST, HRAR (c) TS TG, SUed (d) Hedll, STeHret

IIEUE T 1 TUH 1T hicist U= T hicds hal fRa g 7

(a) BegHl (b) BGR ORGSR (d) Ty
224 TTHYSH Wel 2022 T WA o Teha Tl yesh Sid ?
(a) 67 (b) 57 (c) 22 (d) 26
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When a man weighing 80 kg is replaced by another man in a group of five persons, the
average weight decreases by 3 kg. What is the weight of new person ?
(a) 75kg (b) 65kg (c) 70kg (d) 64kg

If incomes of Ram and Shyam are in ratio of 3 : 5 and that of Shyam and Mohan are in ratio
of 7 : 4, then find the ratio of incomes of Ram, Shyam and Mohan.
(a) 24:36:45 (b) 15:21:35 (¢) 21:35:20 (d) 21:35:28

Ria is facing east. She turns 100° in the clockwise direction and then 145° in the anti-clock
wise direction. Which direction she is facing now ?

(a) North-east (b) South-west (¢) North (d) East
3 2 + 2
If 2x_y =% then the value of );2 Y2 is
11 61 11 51
@ %1 ® 71 © 5y @ 71
How many numbers are there between 500 and 600 in which ‘9’ occurs only once ?
(a) 21 (b) 20 (c) 19 (d) 18

Four girls are sitting on a bench to be photographed. Shikha is to the left of Reena. Manju is
to the right of Reena. Reeta is between Reena and Manju. Who would be second from the
left in photograph ?

(a) Shikha (b) Reeta (c) Manju (d) Reena

The missing number (?) in the following diagram is
4 [ 7
5/1 [64\3
g\27| 2 /g
1] 2

(a) 100 (b) 125 (c) 216 (d) None of these

If P denotes ‘+°, Q denotes ‘—’; R denotes ‘x’ and S denotes ‘+’, then which of the following
statements is correct ?

(a) 36R4S8Q7P4 =10 (b) 16R12P49S7Q9 =200

(¢) 32S8R9=160Q12R12 (d) 8R8P8S8Q8 =57

A man is walking at the speed of 10 km per hour. After every kilometre, he takes rest for
5 minutes. How much time he will take to cover a distance of 5 km ?

(a) 55 minutes (b) 50 minutes (c) 45 minutes (d) None of these

A wire of length y cm is bent to form a rectangle of area 13 cm?. If one side of this rectangle

is x cm; then
27
(a) 2y=x+ .

27 27 27
(b) y=2x+75" (© y=x+5- (d) y=2x+—"
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56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

e die SAfdaEl o g H U 80 foh. U1, WR aTel SAfaa i fopelt 31 =afaq € sgen m at
wiormEy fted wr g 3 fob.om. et o mft | 73 Safed bt aR s g 7

(a) 75 Tw.m. (b) 65 feh.am. (c) 70 f.am. (d) 64 fs.am.

Ffe T TR T Sl 3T 6T 3TUTA 3 : 5 8 AT YT 37R HigH shl 3T 31 31UTd 7 - 4 8, a1 T,
T 3 IEH ! 3T <l FTATT 7 e |

(@) 24:36:45  (b) 15:21:35 (¢) 21:35:20 (d) 21:35:28

T g <t 3T g ek WL 7 | 98 100° SfaqurTet dm &g H 145° ITaTa qedt 8 | 376 35ehI
He fora feama g 7

(a) SW-Td (b) faur-afeem (c) I d)
x 3 axr+y? ‘
aﬁzy—s,?ﬁxz_yzwnﬁ%
11 61 11 51
@) o1 ®) 17 ©) 37 d 17
500 37X 600 5 ALY Tehal TR @ SAH 9’ shaldl Tsh SR AT ?
(a) 21 (b) 20 (c) 19 (d) 18

=R TAfeRat el Remem % ford o= w32t § | R, T o ameff 97R den w9, G % g o
31 g | far, T SR A F a2 | TR ARA G A THRI A DAE 7

(a) T (b) T (c) B (d) T
e i g @ (7) 7
4 | 7
5/1 |64\3
8\27|? /g
111 2
(a) 100 (b) 125 (c) 216 (d) 31 A BIE &

?ﬁéfﬁ‘+’aﬁﬂaﬁﬁTaﬂHT%;Q,“—’qﬁqaﬁﬁTaﬂaT%;Rﬂ‘x’aﬁﬂaﬁﬁTaﬂﬂT%iﬁﬁfi‘+’aﬁ
Teitid a8, dl FAfdfad sei A B SR a1 del 8 7

(a) 36R4S8Q7P4 =10 (b) 16R12P49S7Q9 =200
(c) 32S8R9 = 160QI2R12 (d) SR8P8S8QS =57

T 3N 10 oh.#ft. wf wver i =1eT @ = W1 R | 98 T fehalHiet % 911G 5 e w1 ST
A1 ¢ | e e o 98 5 fop.#ft. 3h1 g a3 i 2

(a) 55 fme (b) 50 e (c) 45 e (d) 31 A BIE &

y .11, < TS % Teh IR I AISH T 13 15 a1 A1, TGS 1 SR SR T 8 | AfG 30
I I T T x S L @

27 27 27 27
(@ 2y=x+5 () y=2xt3 (9 y=xt3y @) y=2c+7
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66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

Which of the following is an open source operating system ?

(a) Windows (b) Linux (c) DOS (d) Microsoft Office
Which of the following is a volatile memory ?

(a) RAM (b) ROM (c) Hard disk (d) None of these
One kilobyte is equal to which of the following ?

(a) 1048 bytes (b) 1014 bytes (c) 1024 bytes (d) 1050 bytes

The physical components of computer are called

(a) Hardware (b) Software (¢) Firmware (d) Package

CPU stands for

(a) Center Programming Unit (b) Central Printing Unit

(c) Central Processing Unit (d) Central Picturing Unit

Which of the following is not a greenhouse gas ?
(a) Carbon dioxide (b) Helium (c) Methane (d) Nitrous oxide

A sound wave has frequency of 2 kilo Hertz and wave length 35 cm. How much time it will
take to travel distance of 1.5 kilometers ?

(a) 70 sec. (b) 3000 sec. (c) 2.1 sec. (d) 13.5 sec.
SONAR stands for
(a) Sound of Navigation and Radar (b) Sound of Organs and Radiations

(c¢) Sound of Navigation and Ranging (d) Sound of Navigation and Radioactivity

The gap between two neurons is called

(a) Dendrite (b) Synapse (c) Axon (d) Impulse
Which of the following is a plant hormone ?

(a) Insulin (b) Melatonin (c) Oestrogen (d) Cytokinin
Sariska National Park is located in

(a) Arunachal Pradesh (b) Karnataka

(c) Bihar (d) Rajasthan

Which of the following is called as suicidal bags of the cell ?

(a) Vacuoles (b) Endoplasmic reticulum

(c) Lysosomes (d) Nucleus

Which is not required for photosynthesis ?
(a) Sunlight (b) Oxygen (c) Chlorophyll (d) Carbon dioxide

Which of the following material cannot be used to make a lens ?
(a) Clay (b) Water (c) Glass (d) Plastic

Which of the following diseases is viral ?
(a) Malaria (b) Cholera (c) Typhoid (d) Rabies
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66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

=1 1 9 i e oo 9 SATfEn yorrefi ® 2

(a) favgs (b) fomam (c) M@ (d) TTShIETFE ATRE
=1 0 9 3 T dietesd aui B ?

(a) W (b) T (c) e feh (d) T8 A HIE T
T feretiamese forer o @ fopges st EaT 8 ?

(a) 1048 =3 (b) 1014 &Tge (c) 1024 9T (d) 1050 =TS
HI o WifcTeh Teehi hl hal ATl o

(a) BTSN (b) HFeAR (c) HORR (d) ks

1 ft 3 =1 e R - -~

(a) @Wﬁmﬁj Ife (b) ﬁv‘&fﬁﬁmé{ﬁz

(c) Huge S fHe (d) Buger frerafin e
fadae it M esa g IE 8 ?

(a) e SBATFES (b) Eiferam

(c) A (d) TTsgH HATFTES

T A q0T 6 AR 2 foheligest aen duieed 35 9.1, 8 | 1.5 Tepetifiet i gl a9 %t 4
foper wm emRrft ¢

(a) 70 THUS (b) 3000 HHTS (c) 2.19HTE (d) 13.5 T%Us
(a) TS U1 TR i eafH (b) AT T fafeton <t eafa
(¢) Aferem aun W 6 eaf (d) Aferiem aun Wenafifar i efv
Tl YU o T o TS bl hal AT o ’
(a) SUgEE (b) fee (c) THEH (d) 37E
7 5 & o 91 T IIeu gHH & 7
(a) 3gfem (b) HeATIfH (c) TEISH (d) HTEIHEHA
aftesr TP 3a a8
(a) JTRUTEA T T (b) HAlesh H (c) feogmd (d) T H
o= 1 9 fortt shifSrent 1 st St wETSTaT R ?
(a) =t (b) 37zl s (¢) areaEm (d) Fs
RSN HIANY[ o foTu fereehl STarsaehd 121 8 7
(a) T OREESISE (c) TuiEia (d) TS STZATFETSS
o7 o 9 R 1 el U 1 ST o fore ey T feRa St wed @ 7
(a) Togh (b) S/ (c) I (d) =i

. T d g en = g fawmefa g o
(a) HeAREn (b) Hic (c) TEFHIES (d) &=
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81. N fud uva © uget 31 1D B’ IR o ToTT ek 31ee BN

ORIEIPED (b) IrETIEATS

(c) MR (d) eI
82. < SH fNeh ITRTN H 91, ATAehT UY | ST Hehetd! B |I” 3 had &

(a) ALY = (b) T S

(c) IR S (d) S5 =
83. fHd w2

(a) Hfd (b) ORI (d) ¥
84. SN TIME & AR W T fhg T w8 ?

(a) TF (b) T (c) qTeTSH (d) S
85. Rdg Weg H A HI HUF 7

(a) S EY (b) 3mfE @y

(c) Ffgafy (d) Tor e
86. f=iferRgd o dewe wree o1 == I

(a) dLW (b) 3T (c) SehreI (d) &Hg
87. ‘fipar yscd s A EmR ?

(a) STfaT=eh (b) WEaTH

(c) Hfaqaraes (d) F=E=®

88. TEH! STc1 g W USH 1 TS SAvehlIferd o1 Y &
(a) AT § 37ereh JTHTEAT AT |
(b) &9 TE B T % 3UTd off A 1 A M |
(c) TTBIC AYH T I |
(d) =HUE T T T |

89. TH % gE@-:W, Y, TY ITC HTa hl e e ohid o o1 forr Ferget =t st fepam s 2 9

(a) W Tored (2) (b) feremnfeanes (1)
(c) 37eq form () (d) 9ot ferm (1)

90. ‘IS AT — I H I’ I H YA hIhH AT AS B ?
(a) HehdaT=eh HoTH (b) ST HEH
(c) HAT=rFdT= e (d) s g™
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91. Y ! faudarde 3

(a) @Y (b) BT (c) <M (d) 8
92. <d vreg S ot forehd gU S o 1 fomdt AT H ST TR &7 — R FHEAA & ?

(a) TqEHE VoS (b) TEH TIse

(c) ferceft wrsg ORNERE
93, FrAffgd A q@ w=ReHT AR ?

(a) 37 (b) ¥ (©) 3 (d) 3
94, IuE’ § ffifq freferiiad sreel o @ fopg wree & o Sumel A& 2 7

(a) IO (b) Sftg ORLES (d) JH
95, frmfoiiea & & %5 w1 sisw A TE R 7

(a) 9 (b) & (c) ® (d) w
96. fr=feriad o @ fore srec & faemi wfR1 2 7

(a) TAfw (b) e

(c) feraqao (d) amfrst
97. 31ef frm 1 frgm R

(a) , (b) ; (c) ! d O
98. ‘YHU h GITIETH IIeC B

(a) Tafere (b) TR

(c) 3TFh (d) @
99, U2 ¥ Ui BT YT &I 37 &

(a) TS o107 | = TG b1 |

(b) I BeAt T HYS BT |

(c) T ST et gaUl T Jehe T LT |

(d) Tereht o1 S o1 o fore 3m@ afsar wenfiq @ |
100. orm TaTE T qd e fersryor 3R 3R ue fevrsa graT & 2

(a) &5 @HE (b) HHUYRT THTE

(c) ToIey {9 (d) wgsifs aume
e -
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